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I. Make two passive constructions from one active.
1. Fred has offered Mary a watch.

2. His father gave Billy a new bicycle.

3. Lisa is sending Tim an invitation.

4. She brought me some oranges.

5. Jack will show me the new car.

6. They paid me a lot of money.

II. Rewrite the sentences in the passive.

1. The chef has made dinner.
2. An explorer has found a dinosaur egg.

3. Mrs Gates will look after the baby.

4. They won’t take him home after the party.

5. Someone left the door open.
6. Somebody is using the computer.

7. His brother taught him to drive.

8. Many people speak English.

9. The doctor had already told him to go on a diet.

10. You must take the dog for a walk.

III. Rewrite the sentences in the passive.

1. Somebody looked for him last week.
2.  They were waiting for Mary.

3. The classmates often laugh at my little brother.

4. Everybody has just listened to this poem.
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IV. Rewrite the following passage in the passive.

1. Someone started a fire in the National Park early yesterday morning.

They had used a match to start the fire. The fire had burnt a lot of trees before someone called the fire brigade. The police have arrested the man. They are still questioning him.
2. Somebody sent me a bunch of flowers. The man from the flower shop delivered them to my house. A young man had ordered them. He had put no card in the flowers. I still don’t know who sent them.
